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Iftwo parallel lines are intersected by another line, how many angles are formed?

Number them on the diagram.

A

The extra arrows on two of the lines mean they are _P_O,f“—-l IsJ .
The line that intersects the two lines is called a " Y GJLE_V_C_Q_&_{‘__

The number of angles formed is g .

The angles formed when parallel lines are cut by a transversal line have special
relationships and are named according to those relationships with one another.

CORRESPONDING ANGLES J,tg,n Same. S|d,e. o\- e W::t

V\'— er 61.‘003

Name the correspondmg angles for the following.
1) 41 corresponds with £ i
2) 42 corresponds with £

3) 43 corresponds with & E
fl- z\ 4) 44 corresponds with &
sl 4 /3
2 AS. 63} What do you notice about the angle pairs abnve’
= 7) . Cam 30#\443.0&.@&. or bo-l-‘\o.rz_oUu
L‘\/ ' Complete the sentence: ' ‘

If two angles are con‘e:pondmgangles

then they are: _@ﬂs r ' +‘ ‘?:
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ALTERNATE INTERIOR ANGLES ;
Definition: LnSde "{"// = dg.(

sife. Sides of Hea "7'4"5" S ‘;ﬁe e ‘
e the alternate interior angle for the following
- 1/2 S 1) 43 is an alternate interior angle with £
i 4/3 G 2) 44 is an alternate interior angle with 4
5 —— > | How many pairs of alternate interior angles are possible?
8 /7 | D
, (&)
What do you n(.ﬁ'?ce about the angle pairs above?
Bou‘\ oAl c._Lquc. er © hse
‘ Word attack
| To alternate means e\/cfy other Complete the sentence:
| | If two angles are alternate interior angles,
Illme"m’means: |/IS\A!— | thmthu are: C,Dr\ ¢J-
ALTERNATE EXTERIOR ANGLES || ';,s—(—t e ,, ,’,,,“y'
' ‘ Deﬁnmon O 'j
'of sides of / Hiw Wsursq.\
ne th( nlurn ate exterior angle for the following angles. |
1§12 1) 41 is an alternate exterior angle with £ !
i s 2) 42 is an alternate exterior angle with £ 8
4 3 ' 2) IS an ernate exte gle !
‘ |
o =/ i >>—P | How many pairs ol alternate exterior angles are possible? |
__| What do you notice about the angle pairs above? {

| To alternate means (2]
R e”"‘”?' Complete the sentence:

If two angles are alternate exterior angles,

Exterior means: -
buts Ln_/

| el |
‘ Word attack u‘-er i Blkl, U" Ca A L‘ ru o L“.‘. |
|
{

{ then theyare: _ "(&.C.A*

Look at the diagram below. For each pair of angles, state whether they are corresponding (C.)
(C), alternate interior (h), ahernau exterior (E), vertical (V), or supplementary (S).

—
L]
:A 10 - t . B 35| 2) 4w, 4s __0_/ 74w, 52 L_ 12) 3w, .‘.XL_
“o /7\\0 3) 4t, Ay E 8) 4v, 3w I 13) 2w, 45 G/ ‘
s 10'V/’\\o‘ Do> | s A  oaver Qo o anadlie \/ |
F

e T Az_L 15y ax ‘2—L
16) If m 4s = 110, find the measure of the remaining angles.

may= W “0 mit=__1(V 70 s 10 m£w=.U_Qmix‘L may = Lm“’..LLQ‘
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As explained in the previous section, when two parallel lines are intersected, or “cut,” by a
transversal, eight angles are formed. Any two angles are either congruent or

Supplemema;y Given the measure of just one of the eight angles, the other seven can be
determined.

Example; Lines aand bare parallel. Line m intersects both line aand b. The eight
resulting angles are labeled 1 - 8, and m41 is given to be 25° Find all angle measures.

|180-25= (8%
m
155"
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Step 1: Notice the relationships /s 5

41 and £4 are vertical angles and therefore =, so m44 = 25°.
Other pairs of vertical angles are 42 and 43, 45 and 48, £6 and 4£7.

41 is supplementary to £2; so the m#2 = 180° - 41 = 180 - 25° = 155°.
£1 is also supplementary to £3; so the m£3 is also 155°.
Notice that £2 and £3are vertical angles, and would have to be = to each other.

Step 2; Corresponding angles have the same relative position, like £1 and 45 are both in
the upper left section of the intersecting lines. Corresponding angles are always congruent,

so m&1and m&5are both 259 &5 and 48 are vertical angles, so m48 = 259.

46 and 48 form a linear pair, so m&6 = 180° - 25° = 155°
46 and 47 are vertical angles, so m47 is also 155°.

Answer:

e
m41, m44, mA5 and m48 (all) = &i and are _Q.ﬂ—angles

L
m#2, m43, m&6 and m&7 (all) = / ﬁ and are _a_éég_c-angles




